(a) Prove that if A and B are both invertible n x n matrices, then AB and BA have                               the same eigenvalues. 

(b) Given that A is an n x n matrix with eigenvalues λi, i = 1, . . . , n, prove that:

                      n                                                                                                n

                (i) ∑λi = tr (A)               and                 (ii) ∏ λi = ‌‌‌‌‌│A│
                     i=1                                                                                             i=1

